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M AL
M dots+HE HEE TAAE
et SENQ HAME Hexd (el @2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
401 AIEBI L 2CHEI 8,400 8,400 0
01 A& dl 8,400 8,400 0
OE2HES I HEAA MZ 140,000& =604 8,400
SADIEE AIEESE 8,394,171 6,305,736 2,088,435
= 600,000
Al 600,000
- 7,194,171
2 & o= S A4 Hd 1,004,000 1,005,000 A 1,000
401 AIEHI L 2CHYI 1,004,000 1,005,000 A 1,000
01 Al£HI 1,000,000 1,000,000 0
OL2Z2 & A 480,000
Odt=Al&= ZHISA 250,000
OE=dHl 3A 150,000
O=ZAE=EH SAM 120,000
03 AlE 2 THHI 4,000 5,000 A 1,000
OAEASE 2 4,000
C2=F=74 431,435 450,000 A 18,565
101 @124 8] 27,235 0 27,235
04 DIt 22 XS+ 27,235 0 27,235
Okz=zx=7 &2 JIZ2MIZ2N B+ 27,235
— QI 2H| 80, 103& x1H «300L 24,031
-=IUASEEE 24,030,900& *4.5% 1,082
-ALEE= 24,030,900 *3.43% 825
- JUEEER 24,030,900& *1.65% 397
- EE S 24,030,900 *0.853% 205
- AIRYEES
24,030,900 *3.43%*11.52% 95
-SANEAE 300,000& 1 300
-HEE240= 300,000& *1& 300
201 Lt 2| 4,200 0 4,200
01 At 2t 2l bl 4,200 0 4,200
Oz=zxs7 2 g i
350,000& = 12& 4,200
401 A EHI 22Ol 400,000 450,000 50,000
01 A€ dl 400,000 400,000 0
O2=% =723AM 400,000
2ULAZ=ESA 100,000 100,000 0
401 AIEBI L 2CHEI 100,000 100,000 0
01 Al&HI 100,000 100,000 0
OB steAle EZLTA 100,000
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2N
X ZH -
L= B

el

Fag=n;
H0lssle HEHe TAIHE
SADIBE AMIEES

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2l &2 S 23 AWMES(SHIAHL) 500,000 500,000 0
401 Al HI K 201 I 500,000 500,000 0
01 A& Bl 500,000 500,000 0
OZU &2 S 212 2WES(SHIHAHL) 500,000
2 HE S22l (SIHA) 70,000 70,000 0
401 Al HIZ 201 Y] 70,000 70,000 0
01 A& HI 70,000 70,000 0
O HE SX2lHl(SIHAH ) 70,000
AEZ HEQLIAMZALE KA 15,000 12,000 3,000
401 Al HIZ 201 8] 15,000 12,000 3,000
01 A& HI 15,000 12,000 3,000
O&YZ HEQLIANMZANE SA2a 15,000
T2ANEE A2 6,736 6,736 0
201 Let24d] 6,736 6,736 0
02 2324l 6,736 6,736 0
OEZANEE & =Zx& 2l 6,736
- XS XM (ZXH) 68,000 2K 136
- xR 2eltl 3,300,000 =2CH 6,600
HAE A o3 2F 2,000 2,000 0
201 £B-2dH| 2,000 2,000 0
01 At 22l 2,000 2,000 0
OALBN AOPHE 29
100,000& »5H 43 2,000
Es =2s0ts gtz & 300,000 0 300,000
401 AIEHI L 20 300,000 0 300,000
01 A& HI 300,000 0 300,000
ORE=s =20t L2 SFSA 300,000
S0 BS2 el 23 2EHSE o 1,200,000 800,000 400,000
= 600,000
Al 300,000
- 300,000
401 Al HIZ 201 Y| 1,200,000 800,000 400,000
= 600,000
Al 300,000
- 300,000
01 A& HI 1,200,000 800,000 400,000
ORUN #HS2 el 23 2dEF e 1,200,000
= 600,000
Al 300,000
- 300,000
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A R =y
JM: M0tsHes HES TAHL
©F SADIE AlgES (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
42 "elsHd 8BS AMY 300,000 300,000 0
Al 300,000
401 Al HI R 201 I 300,000 300,000 0
Al 300,000
01 A& Bl 300,000 300,000 0
OJtnae gelth BsI| At Y 300,000
Al 300,000
gits A21-138 S20HE 500,000 0 500,000
401 Al HIZ 201 I 500,000 0 500,000
01 A& HI 500,000 0 500,000
Ogdts 221-1sd E2H4 500,000
BES A22-225H T2H4 950,000 0 950,000
401 AIEHI L 2 CHYI 950,000 0 950,000
01 A& HI 950,000 0 950,000
OFBEs 222-256 T2I4E 950,000
T AM3S FOUMH MYE2 W4 1,000,000 0 1,000,000
401 AIEHIZL 20 1,000,000 0 1,000,000
01 A& Bl 1,000,000 0 1,000,000
O+ . ZH3s FLHH MLE2 4 1,000,000
NS = Fot=22 ZHAM 1,200,000 0 1,200,000
401 Al HIZ 201 I 1,200,000 0 1,200,000
01 A& HI 1,200,000 0 1,200,000
OXIEHEGIHE ==ot+=22 FHIAY 1,200,000
XNEHESIHE = Rot=22 FUXIANEH 160,000 0 160,000
401 A& HIZ 201 8] 160,000 0 160,000
01 A& HI 160,000 0 160,000
OXBASIHS “Fots22 FLUIAEY 160,000
FENNMZ 3223 T2EHUISAM 150,000 0 150,000
401 AIEHI L 201 150,000 0 150,000
01 A& HI 150,000 0 150,000
OFENTZ 3283 T2 HHIS A 150,000
aAds XY ol HUAY 200,000 0 200,000
401 AIEHI L 2 CHEI 200,000 0 200,000
01 A& tl 200,000 0 200,000
O&32 LHIY Aol HHIAY 200,000
sds 82 L3 T2 HH S A 100,000 0 100,000
401 Al HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
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SH: A
Za: 4
ool

=i,
Ols#+ls S ZAIHE
ADIEE Al 2 E

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
O24Hs ME2 L T2 X Y| 2 A 100,000
RSP FOX AN (ASNS~0IEA AZE 80,000 0 80,000
ek JHEALY)
401 AIEHIZL 201 Y| 80,000 0 80,000
01 Al 80,000 0 80,000
OMEOIS~0tsSA 28 e HEAY 80,000
IHEHE AT FOXNFAG(FRES SR 2 2 100,000 0 100,000
s m)
401 Al HI L 2 0HHI 100,000 0 100,000
01 A&l 100,000 0 100,000
OfFFE &7w 23 =2 & 100,000
IHEHE RS SHASSIAIY (AOI0IE S22 XAA 25,000 0 25,000
o)
401 AlEHIZ 2 0HY| 25,000 0 25,000
01 Al& b 25,000 0 25,000
Oatitote S22 24 A Y 25,000
ME2EXNes TAAHE =4 40,000 19,360 20,640
TAAHE 29 18,000 19,360 AN 1,360
201 et | 18,000 19,360 A 1,360
01 AR 22l ] 18,000 19,360 A 1,360
OEAHES SHZ2D 5
3,000,000& *33| 9,000
OSANSARE EaLT
100, 000& 152 43| 6,000
OZANAETSSAAE Ba2gy
100,000 152 13| 1,500
ORIy & APEPY 1,500
HHELZE 2] EE2ZE24 J2Fa =49 22,000 0 22,000
401 AIEHIZ 201 Y| 22,000 0 22,000
01 Al&H| 22,000 0 22,000
OBHAEASH 2L S22 232y 89 22,000
MNAMEHAO S2= S AIRD] 834,338 641,393 192,945
NAMEfSE T4o 834,338 641,393 192,945
of& & Xl &2l bl 94,338 91,393 2,945
101 124 H| 76,974 74,861 2,113
04 JI2ZtHIZ22NEES 76,974 74,861 2,113
Ootagxae JI2tH 22X ES 76,974
—QAHH| (=, 88X &2 Z&)
0, 103& x4 %210 67,287
-Z20AZEE =S 67,286,520 x4 . 5% 3,028
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Fag=n;
P ANHMEEO s 2= SO
AAMEE =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-HLEEE 67,286,520 x3.43% 2,308
- IEE2E= 67,286,520% *1.65% 1,111
- MTHEEE 67,286,520& *0.853% 574
- RLEER
67,286,520& x3.43%*11.52% 266
-EXZUE 300,000& x4 H 1,200
—gE2403 300,000 x4 & 1,200
201 Let24E] 15,864 15,032 832
01 At 2t 2l 6,940 5,960 980
Ootd (28, g2, Actd )22l (Ha
28 S) 5,500,000& » 14! 5,500
O==gd2d, 2&8d Z2lAMFRAL =D b
40,0003 123 «3CH 1,440
02 22224l 8,924 9,072 A 148
OXNSIA(atSx 1E) 32,0003 »1CH 32
OgZNERE 3 (2R 1E€)
61,0003 »1CH +23] 122
Oxts KR A2l 5,800,000 = 1CH 5,800
OW=JI:=Hl 1,361 %1,3002! & 1,770
OHIIRS 100,000& =122 1,200
405 XHoHF S HI 1,500 1,500 0
01 At ESFH S 1,500 1,500 0
OdctdEHlE &HHI 7Y 1,500
StEAE SRR 2el 200,000 300,000 A 100,000
401 A& HIZ 2018 200,000 300,000 A 100,000
01 A& HI 200,000 300,000 A 100,000
Odt&E (FAH)AE S FHl 200,000
=2 47 S MM FH| 100,000 0 100,000
401 AIEHI L 2CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
Ox=gd &7 R0 M4MI HUISAM 100,000
U FHAY (HE)(HEAY) 140,000 0 140,000
401 AIEHI L 20HEI 140,000 0 140,000
01 A& HI 140,000 0 140,000
O2=U& HUlArL (&) 140,000
=dd 2 LIAHOE & 50,000 0 50,000
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
O2dd =2 LIAHOE X 50,000
=43 1038 & FHEH| 100,000 0 100,000
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CEH B (BH) - NBAY - B2 o AF o San H D2
1 A& 8l 28I 100,000 0 100,000
01 A& HI 100,000 0 100,000
O24ds 1038 L& P2{EHISAH 100,000
A GIAKRAAE B2A2A 150,000 0 150,000
401 Al HI L 2 0HHI 150,000 0 150,000
01 A& HI 150,000 0 150,000
O2&8A ol 22 Ak 150,000
& AFH (AL D) 181,140 319, 153 A 138,013
23l 49,719 164,550 AN 114,831
A2 A 49,719 164,550 AN 114,831
101 @121l 49,719 164,550 AN 114,831
03 I HLZ22 NHE 49,719 164,550 AN 114,831
Odta &2 32 ) JIEa2
2,928,630 x 1 x12& 35,144
Os=Y 2,640
— Bl Xt 40,000 *x1H x12& 480
e [PNRE 20,000& x1H ~12& 240
-EMX4H 60,000 x1H x12& 720
— AU RS 100,000 x1H «12& 1,200
O=c =Ml 3,903
-y HZAYH| 130,000& x1H x12& 1,560
- Y& F Iyl 2,928,630& *80%* 14 2,343
Odau2 2,928,630& *36% 1,055
Oxlh224 6,507
-542fx4 88,716& x52 4,614
- RISIIHY 118,288& x16 Y 1,893
Oon=y s 380
-22E(s8) 140,000& x1H 140
-Z22=2(ol=) 100,000& x1H 100
— g sHE 2 20,000& =1 20
—-gsre 20,0002 *14 20
-5 20,000& =14 20
-9 40,0002 *14 40
- &35 40,000& =14 40
O:ZxEM=sUz XA 30,000& *13] 30
octeus XA 30,000& *23] 60
2 bl 131,421 154,603 £23,182
=&l 131,421 154,603 N23,182
201 Lt 2| 38,301 37,653 648
01 At 22l Yl 38,301 37,653 648
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2N A&
M ALY (AL)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O=2A2X 7 (A4) 20,000& x 1502+ A 3,000
O=2AEX P22 (A3) 21,000 102 A 210
OEHZY 13,253
-Z el 617,000& =4I =3 CH 7,404
=== 175, 000& *5JH x5CH 4,375
-224 147,400& =104 1,474
OARE Z&H =688 X4l 1,000
EMEGIN 22| 10,000& x31H ~12& 3,720
OAZAZ 2K 24l
8,000& x5 .54 x31H x12& 16,368
OENRPUH(HEE=EHL S) 750
202 (4] 88,320 107,520 A 19,200
01 2L Y| 88,320 107,520 A 19,200
O&LHH bl 230,000& x32H x12& 88,320
203 R =&lY| 4,800 4,800 0
04 ENSIHRF=AY| 4,800 4,800 0
ORMNSYYLF=XHI(3020]al)

400,000& =122 4,800
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